Question Paper Name :
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
Examiner permission :
Show Progress Bar? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

National Testing Agency

Geophysics Hin 13th June 2023 Shift 3
Geophysics Hin

2023-06-13 20:04:08

120

400

Yes

Geophysics

Part A

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Id : 68634018229 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension

1
686340181

Cant View
No

686340361
1

Online
Mandatory
21

21

100

Yes

0

1
686340601
No

null



frafaad 3o Ul 1 Ugdx U U Yl & Ik Sifolt|
R 7 o g aun o S e sfimm 21
95 R T8, RUY PR 8 SR gaw aam= 211
T VS Id DUTRRY T &1 3 Hroa-uiaadl Was-UE 31 81 HoRo 3l 6 -

TR U § T 2 WoR-UY §ad &1 ufas Ia § Ol §1 & f8d & iU §ed STl <8di g | T &1 U
ﬁ?ﬂ&@?waﬁmﬂﬂgﬁﬁﬁmﬁﬁﬁrmﬁwﬁaww%’mﬁw SR TRt ¥ 3w
& TR T &1 §1-4RT 3R GRIET 941U IGdH ¢ | 3% U Haiod &1 98 UBR & ol o% B SH-8H IR
fep it +ff wHa FroTer €1 @1 IRon &l 81 <209 UH1 WA €. Sl P 7 g R T P Fren e
3HUTE TS © RT3 1 arkaa & 9.0 e &R SfieivTa gE-gfaensi & S So1 g @t iR afie &1
U1 U FRIER &, o TR Ugd &% 81 Ha &1 Had] 9] K9G ol 8| 32100 & GR1 1 ila- waaT
e a1 § 3R U1 Sitg- A 9-ofia ¥ agax el e I§ Saciia &I W R adl 8

ST SR Taie i TRITR srufd Trar SR Ayl W o seaR weE B

Sub questions

Question Number : 1 Question Id : 68634018230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SSERit ke oo RS
1. 39 fgd & g vdeg vig
2. 3N P Rd & forg wqdur vig
3. URGR & g §H4u Yig
1. TR A o & g wwdor amg

Options :

68634072001. 1
68634072002. 2
68634072003. 3
68634072004. 4

Question Number : 2 Question Id : 68634018231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR SAaRUl &1 3rad YN 5
1. IRATar-ud
. Hdigd &1 41
RSN
IRCIGERNGE]
Options :
68634072005. 1
68634072006. 2

68634072007. 3
68634072008. 4

[

L]

Question Number : 3 Question Id : 68634018232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Od® &1 [ddd § -

1. g0
U]
. qq

4. Siifdd

| )

L]

Options :

68634072009. 1
68634072010. 2
68634072011. 3
68634072012. 4

Question Number : 4 Question Id : 68634018233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Wil U Wi 9g B bl Bl 82
1. QAT 1
 HIqYfT Bl
RENNIET]

| )

[#5]

=

IR T 5l

Options :



68634072013. 1
68634072014. 2
68634072015. 3
68634072016. 4

Question Number : 5 Question Id : 68634018234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiad s/ &1 yge 4T Y a1egf &1 HHFTYR gy

A, TSR 55T B U WIaT §

B. o S o1 Sty B

C. Ol Pt 7 bl SR A I FRIE S

D. Y1 TREAT 3R droril ¥ &= % TSI T Bl
E. %191 & gRI 81 SiiaT gauT 78 &dl &

A feu 7Y fawedt 7 ¥ Uel ST o1 907 S -

1.C,A.B, D, E

[ ]

AR DUE
3.B.A.D.C.E
4. D, E.A B, C

Options :

68634072017. 1
68634072018. 2
68634072019. 3
68634072020. 4

Question Id : 68634018229 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634018230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SSERit ke oo RS
1. 39 fgd & g vdeg vig
2. 3N P Rd & forg wqdur vig
3. URGR & g §H4u Yig
1. TR A o & g wwdor amg

Options :

68634072001. 1
68634072002. 2
68634072003. 3
68634072004. 4

Question Number : 2 Question Id : 68634018231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR SAaRUl &1 3rad YN 5
1. IRATar-ud
. Hdigd &1 41
RSN
IRCIGERNGE]
Options :
68634072005. 1
68634072006. 2

68634072007. 3
68634072008. 4

[

L]

Question Number : 3 Question Id : 68634018232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Od® &1 [ddd § -

1. g0
U]
. qq

4. Siifdd

| )

L]

Options :

68634072009. 1
68634072010. 2
68634072011. 3
68634072012. 4

Question Number : 4 Question Id : 68634018233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Wil U Wi 9g B bl Bl 82
1. QAT 1
 HIqYfT Bl
RENNIET]

| )

[#5]

=

IR T 5l

Options :



68634072013. 1
68634072014. 2
68634072015. 3
68634072016. 4

Question Number : 5 Question Id : 68634018234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiad s/ &1 yge 4T Y a1egf &1 HHFTYR gy

A, TSR 55T B U WIaT §

B. o S o1 Sty B

C. Ol Pt 7 bl SR A I FRIE S

D. Y1 TREAT 3R droril ¥ &= % TSI T Bl
E. %191 & gRI 81 SiiaT gauT 78 &dl &

A feu 7Y fawedt 7 ¥ Uel ST o1 907 S -

1.C,A.B, D, E

[ ]

AR DUE
3.B.A.D.C.E
4. D, E.A B, C

Options :

68634072017. 1
68634072018. 2
68634072019. 3
68634072020. 4

Sub-Section Number : 2
Sub-Section Id : 686340602
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634018235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y- Y B YaT 4 fpga fae glare 2

. {14 &I AFdd B

—

| )

A AR ST g P
. G Bl
4. 51 3R Y PT

[#%]

Options :



68634072021. 1
68634072022. 2
68634072023. 3
68634072024. 4

Question Number : 6 Question Id : 68634018235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y- Y B YaT 4 fpga fae glare 2

1. ATFd @I AFTAl ®I

| )

A AR ST g P
3. G Bl
39 SR A &

=

Options :

68634072021. 1
68634072022. 2
68634072023. 3
68634072024. 4

Question Number : 7 Question Id : 68634018236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FafcEd o ga-ea &1 S1aRa® U 61 ¢ -

A 3exg
B. Odl

C. AdpHdgdl
D. Hevid
E. Il

[al

= fu e fdaredl | O Ul 3R &1 944 Sl

1. $ad B
2.%ad C
3. BAd A
4. %Ad D

Options :

68634072025. 1

68634072026. 2

68634072027. 3
68634072028. 4




Question Number : 7 Question Id : 68634018236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[afeREad o uA-cig= &1 31awae® 0 6l ¢ -

A 3exg
B. Odl

C. AdpHdgdl
D. Hevid
E. Il

[al

= fu e fdaredl | O Ul 3R &1 944 Sl

1. $ad B
2.%ad C
3. BAd A
4. %Ad D

Options :

68634072025. 1

68634072026. 2

68634072027. 3
68634072028. 4

Question Number : 8 Question Id : 68634018237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
%A1 BIEE] S8HI & AU Uel dlobliad g -
1. 3 & ¢ IR fahH I
2. 3 & T, el & &M
3. 0% 3[R, 91 1R
4. 71 3R Yo-do

Options :

68634072029. 1
68634072030. 2
68634072031. 3
68634072032. 4

Question Number : 8 Question Id : 68634018237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
%A1 BIEE] S8HI & AU Uel dlobliad g -
1. 3 & ¢ IR fahH I
2. HTH & HTH, Toferdl & gH
3. 0% 3[R, 91 1R
4. 71 3R Yo-do

Options :

68634072029. 1
68634072030. 2
68634072031. 3
68634072032. 4

Question Number : 9 Question Id : 68634018238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafea 5 9 sHYRyT 999 HT 360 6 & ;

p i

Options :

68634072033. 1
68634072034. 2
68634072035. 3
68634072036. 4

Question Number : 9 Question Id : 68634018238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad § ¥ YRy 999 &1 3SR el © ;

p i



Options :

68634072033. 1
68634072034. 2
68634072035. 3
68634072036. 4

Question Number : 10 Question Id : 68634018239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
féd. Herufd Hiax am|
Had Hid gHd gad ||
SRl Ufkiail H PR © :

1. SIUH STBHR

2. QH® AHABR

3 3 ;
@ :

Options :

68634072037. 1

68634072038. 2

68634072039. 3
68634072040. 4

Question Number : 10 Question Id : 68634018239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfed, Aedfd AR m|
dad Gidd god g | |
SRl ufgasi ¥ SeieR © -

1. I HEDHR

2. UH® DR

3. 909 PR
" .

Options :

68634072037. 1
68634072038. 2
68634072039. 3



68634072040. 4

Question Number : 11 Question Id : 68634018240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 AP qUT 5 TSIDU U Brd B 8 1 F T HR ADhd § | 7 A5 50 H1d ol 4 faAT & A %
IoHd & | B oI 38l &4 § gura $34 & for fooa- asfadl ©f sravgsdr g

1. 940

|

. 280
3. 560
4.412

Options :

68634072041. 1
68634072042. 2
68634072043. 3
68634072044. 4

Question Number : 11 Question Id : 68634018240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 AP qUT 5 TSIDU U Brd B 8 1 F T HR ADhd § | 7 A5 50 H1d ol 4 faAT & A %
IoHd & | B oI 38l &4 § gura $34 & for fooa- asfadl ©f sravgsdr g

1. 940

|

. 280
3. 560
4.412

Options :

68634072041. 1
68634072042. 2
68634072043. 3
68634072044. 4

Question Number : 12 Question Id : 68634018241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



156 %3640% G|

i | oo

1.152.6

| )

. 76.8

4. 54.63

Options :

68634072045. 1
68634072046. 2
68634072047. 3
68634072048. 4

Question Number : 12 Question Id : 68634018241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

156 % 18 % 40% @15 = ?
39 g
1.152.6
2.76.8
3.384
4.54.63
Options :

68634072045. 1
68634072046. 2
68634072047. 3
68634072048. 4

Question Number : 13 Question Id : 68634018242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&R ISR TS5 &1 895 92 1 m? BLal t FTAFG :

4, 22m

Options :

68634072049. 1
68634072050. 2
68634072051. 3
68634072052. 4

Question Number : 13 Question Id : 68634018242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y& RId JAIBR TS5 &1 840 92 xm? GLal ¢ PIAF G :

4. 22m

Options :

68634072049. 1
68634072050. 2
68634072051. 3
68634072052. 4



Question Number : 14 Question Id : 68634018243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

108% 104" _
325 R

1.3.26

| ]

.3-29
3.3.53
4.3.62

Options :

68634072053. 1
68634072054. 2
68634072055. 3
68634072056. 4

Question Number : 14 Question Id : 68634018243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

108° —104° _ ;
32° - 28’

1.3.26

| ]

.3-29
3.3.53
4.3.62

Options :

68634072053. 1
68634072054. 2
68634072055. 3
68634072056. 4

Question Number : 15 Question Id : 68634018244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 g goft 1.2.3.5.7 & YYT 50 UG BT AT &

[
L
=

4. 100

Options :

68634072057. 1
68634072058. 2
68634072059. 3
68634072060. 4

Question Number : 15 Question Id : 68634018244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g guft 1.2.3.5.7 FUYF 50 UG BT 3

1.45

b2
L]
=

4. 100

Options :

68634072057. 1
68634072058. 2
68634072059. 3
68634072060. 4

Question Number : 16 Question Id : 68634018245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3t 1S g & srTelt T o It st 2

27,64, 125, 216, 343,

1.416

[ ]
L]
—
| )

3. 686
4, 559

Options :



68634072061. 1
68634072062. 2
68634072063. 3
68634072064. 4

Question Number : 16 Question Id : 68634018245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3t 1S g & srTelt T o It st 2

27,64, 125, 216, 343,

1.416

[ ]
L]
—
| )

3. 686
4, 559

Options :

68634072061. 1
68634072062. 2
68634072063. 3
68634072064. 4

Question Number : 17 Question Id : 68634018246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy . e O 9 5y fSew ¥ saffda g -

vy =

[

Options :

68634072065. 1
68634072066. 2
68634072067. 3
68634072068. 4

Question Number : 17 Question Id : 68634018246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy . e O 9 5y fSew ¥ saffda g -

vy =

2

(%]

Options :

68634072065. 1
68634072066. 2
68634072067. 3
68634072068. 4

Question Number : 18 Question Id : 68634018247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BLOCKED &1 §1a¥ YOLXPVW ¥ §. 81% 33! HBR OZFMXS BT Ta=] A BI |
1. LAUNCH
2. DEBATE
3. RESULT

4. LABOUR

Options :

68634072069. 1
68634072070. 2
68634072071. 3
68634072072. 4



Question Number : 18 Question Id : 68634018247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BLOCKED ] Y YOLXPVW ¥ B, 319 I UPR OZFMXS BT Tra BT |

1. LAUNCH

|

. DEBATE
3. RESULT
4. LABOUR
Options :
68634072069. 1
68634072070. 2

68634072071. 3
68634072072. 4

Question Number : 19 Question Id : 68634018248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH ASH| B SR SR Hd GU 3G - gl "U8 ASHI UL [Udl &I Ueald! S &1 Gl §1" 3195 I
Tdl & 1Y 3 do ! &l ol 95w § 2

LA
Tl
3T

4. dg-

[

L]

Options :

68634072073. 1
68634072074. 2
68634072075. 3
68634072076. 4

Question Number : 19 Question Id : 68634018248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UF TSP B AR SR T §U 3G - BT "T8 TSB! 1 U] & UHald! S B Gl g1 315 B
Ul & 1Y 39 To®! &1 ol GrEH € 2

el

2. HIdT
. 37et

4. dg-

L]

Options :

68634072073. 1
68634072074. 2
68634072075. 3
68634072076. 4

Question Number : 20 Question Id : 68634018249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AB.C.D.E.F 3R G U% Wgad URAR & Id ¥a ¢ | 3T 70 916 & YR W 10 SIWE 6 B FTE
& 1Y T IR 8 2

A. U IRGR 7 g farfed dudt &

B. G U TJiguil § 3R 39 Uid abid §

C.BHIUdl C 8. AT AT IR G DI UG T |

D.D. C & TR, TF SIaex 3R E &1 fUdl. 1@ MR §
EFPIHRATIRBBITAS

A fau U fom eyl O 9 T8l 3R &1 99 iy ;

1. dg
2. 3Ppd
3. i
4,41

Options :

68634072077. 1
68634072078. 2
68634072079. 3
68634072080. 4

Question Number : 20 Question Id : 68634018249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AB.C.D.E.F 3R G U% Wgad URAR & Id ¥a ¢ | 3T 70 916 & YR W 10 SIWE 6 B FTE
& 1Y T IR 8 2

A. U IRGR 7 g farfed dudt &

B. G U TJigUfl § 3fR 39 Uid 9dbid ©

C.BHI Ul C 8. AT AMEAI R G DI O g |

D. D. C & TR, TP SIex 3R E F1 fUdl, T W §
EFPIUEATIRBIIHES

i faU 77U faw eyl O 9 T8l ST &1 99 By ;

1. dg-
2. 3{pd
3. oM
4. Y%
Options :
68634072077. 1
68634072078. 2

68634072079. 3
68634072080. 4

Question Number : 21 Question Id : 68634018250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T [P Slfa- aTel WyH YR S 82
1. Hio dfo T
o &
I 1Y R
SRR gty
Options :
68634072081. 1
68634072082. 2

68634072083. 3
68634072084. 4

[

L]

=S

Question Number : 21 Question Id : 68634018250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T [P Slfa- aTel WyH YR S 82
1. Hfo dlo I07

A 89
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 HEER gemitEy

Options :

68634072081. 1

68634072082. 2

68634072083. 3
68634072084. 4
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Question Number : 22 Question Id : 68634018251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1960 H OPEC TRI1US o] & UgdH BHIfuig ;

A PR

B. 5

C. X®

D. $ad

E. U&hdl 3Rd
F. d-Io[udl

= fau U faaredl | O Ul 3R &1 994 Sl

1. $AAB.C.D.ETF
2. PAAA.B.C.DTE
3. $ddA.B.D.EQF

4. PAAA.C.D.ETF

Options :

68634072085. 1
68634072086. 2
68634072087. 3
68634072088. 4

Question Number : 22 Question Id : 68634018251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1960 H OPEC TRI1US o] & UgdH BHIfuig ;

A PR

B. 33

C. X®

D. $ad

E. O&hal 3RE
F. a-To[Uel

e fou v gt § 9 981 9k &1 997 Sifer -

1. $adB.C.D.ETF
2. AT A.B.C.DTE
3. Pd0A.B.D.ETF
4. HAAA.C.D.ETF

Options :

68634072085. 1

68634072086. 2

68634072087. 3
68634072088. 4

Question Number : 23 Question Id : 68634018252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHAIUNE TE ST °
1. dgaRT g &I
 damg
Qe

4. 1YY

| )

L

Options :

68634072089. 1
68634072090. 2
68634072091. 3
68634072092. 4

Question Number : 23 Question Id : 68634018252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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T

4. 1Y
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Options :

68634072089. 1
68634072090. 2
68634072091. 3
68634072092. 4

Question Number : 24 Question Id : 68634018253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIeR 1 R fooan man g -
1. %fires faare &1 wmsil, FHare ok sramal & & wE dare
fafie smigl SR 98 =il & di faaral o1 gogiidl
3. 50 1 AETHRYL, Syl BUTHR off +ft a1 (vIga) &
4. TF Y & AR 15 &1 b

[ )

Options :

68634072093. 1
68634072094. 2
68634072095. 3
68634072096. 4

Question Number : 24 Question Id : 68634018253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR D1 GRUI foar mar g -
1. e faaTe 1 i, Faie SR Sran & &9 ®F ddl e
falim gl 3R 98 Tl & 49 [are! &1 w5
3. Y HT @SN, 31yl HUHR S o a0 (vgw) &
4. TP S & AR 8F &1 G

| )

Options :



68634072093. 1
68634072094. 2
68634072095. 3
68634072096. 4

Question Number : 25 Question Id : 68634018254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2023 DI 79 H 9 by sFaRiyla a¥ & U & FEI S E1 6 2
1, 9154 W
HIET 3T
gl =
4. ad faor
Options :
68634072097. 1
68634072098. 2

68634072099. 3
68634072100. 4
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[#5]

Question Number : 25 Question Id : 68634018254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2023 DI 79 H 9 by sFaRiyla a¥ & U & FEI S E1 6 2
1, 9154 W
HIET 3T
gl =
4. ad faor
Options :
68634072097. 1
68634072098. 2

68634072099. 3
68634072100. 4

| )
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Part B: Geophysics

Section Id : 686340362
Section Number : 2
Section type : Online
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Section Marks : 300
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Question Number : 26 Question Id : 68634018255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . . . . . o | . -eim . .
A person is standing inside a lift descending at 3 ms™ acceleration. The ficticious force acting on the person in

this non inertial frame of lift is (Mass of man = 75 kg and g = 10ms™):

1552

[

[ ]
hn
| ]
hn
Z,

Options :

68634072101. 1
68634072102. 2
68634072103. 3
68634072104. 4

Question Number : 26 Question Id : 68634018255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U% SfGd 3 ms™ & @0 T A2 BT 3R MG forge & < @a1 8| fofve & 59 sosdig e | afdd
TR BT AU T & (AR BT ZEAF =75 ke T g = 10 ms™) ;

1. 5253 N

2
|
n
[
n
Z

L]
| B
| ]
n

]

4.-225N

Options :

68634072101. 1
68634072102. 2
68634072103. 3
68634072104. 4



Question Number : 27 Question Id : 68634018256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The force exerted on the rocket is 10 x 1017 erg. If exhaust speed of the rocket is 200 km/s, then the fuel
consumed by rocket motor in 40 seconds is:

1.2.5 x10%kg
2. 40 x 10 kg
3.2.0x10'kg
4.5.0x10" kg
Options :
68634072105. 1
68634072106. 2

68634072107. 3
68634072108. 4

Question Number : 27 Question Id : 68634018256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIde W AT el 74 10 x 101 erg §1 Ul Ache F F11d U ST 1A 200 ki 57 BT 71 40 Ths F Adbe
Tilex GRI 0 S8 &

1.2.5 x 1010kg

| o

.40 % 101%kg
3.2.0 x 10 kg
4.5.0 = 101 kg

Options :

68634072105. 1
68634072106. 2
68634072107. 3
68634072108. 4

Question Number : 28 Question Id : 68634018257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An object of mass m is hanging in a car which is accelerating at 10 ms=~ (as shown in figure). The tension in
the string in the non inertial car frame is (given. g = acceleration due to gravity):

6/ /

1.m( g2+ 10)!

bt

[

2.m( g%+ 50)!
3.m(g+ 100)
4.m (g2+100)12
Options :
68634072109. 1
68634072110. 2

68634072111. 3
68634072112. 4

Question Number : 28 Question Id : 68634018257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI o & 3FER. m S60HH @1 U6 ] 10 ms & @d 61 36! U9 BR § A¢® 5! | Soisal BR
10 T SR H @914 § (431 8. ¢ = ol @RU):

7

lL.m(g+10)!

[l

[l

2.m( g+ 50)
J.m(g+ 100)
4.m (g2+100)!2
Options :
68634072109. 1

68634072110. 2
68634072111. 3



68634072112. 4

Question Number : 29 Question Id : 68634018258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
c C

~ 5
S|‘ > < . S5

¥

Two sources at rest are sending light signals towards each other. A per Galilean transformation the veloeity of
approach of the signals 1s:

l.c

| )
| )
L#)

4.08¢

Options :

68634072113. 1
68634072114. 2
68634072115. 3
68634072116. 4

Question Number : 29 Question Id : 68634018258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

c C

S — Sy

foRT o fUd 3 | T R 1 SR TR e 9191 38 © | Telien SR & SE9R, U5 8L &l
IR 3T aTel Ryl &1 a7 &:

l.¢

[ ]
[ ]
L)

4.08¢

Options :

68634072113. 1
68634072114. 2
68634072115. 3
68634072116. 4

Question Number : 30 Question Id : 68634018259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following equations of two simple harmonic motions along X axis and Y axis respectively.
x = a sin ot and y = b sin (et + 6). where x and y are displacement of time t.
The resultant of motion of particle under the influence of above SHMs 1s:

' 2.‘[‘ i 1
l. — 4 —+ —lcus.gﬂ':sm‘gffr
a b ab

y' x°  2xy

2. — -4+ cosg=sin’¢
a a- ab
' x* 2xy 4o
3. ————-—"—cosg=sin" ¢
b~ a  ab
y' x5 xy :
4. 4 _cosd=sin’¢
b a 2ab

Options :

68634072117.
68634072118.
68634072119.
68634072120.

A W N —

Question Number : 30 Question Id : 68634018259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHR:X aUT Y 3Hefl & SrfEw &l WRa sirad il & forg Fafafad aeieRl ufey

x=asinwtdd

y=b sin (ot +8), ST6] 99T + R GRIGT x 9 y & | SR IRd 31dd 1fadi & THd & aiid Sl o)

x v 2xy . 3
l. —4+—+——cos¢ =sin"
= b ab ¢ ¢

X 2xy N
— —,+-—}c05.;ﬂr=sm‘¢5
a a ab

| ]
e

o x0 2xy o
3]'— — ———Ccosg=sin" ¢
b a ab
v xt Xy N
4 — - —+——cos¢p=sin ¢
b a  2ab
Options :
68634072117.

1
68634072118. 2
68634072119. 3
68634072120. 4



Question Number : 31 Question Id : 68634018260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The moment of Inertia of a thick shell about its diameter with external and internal radii 3 m. 2

m respectively is 84.4 kg m? if mass of the shell is 19 kg .

a8 . . 2R =1
Reason R: Moment of inertia of such shell about diameter 13 g[ 2 : _ J
53

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

b2

. Both & and R are correct and R is NOT the correct explanation of A
3. Ais correct but R is not corract

4. Ais not correct but R is correct

Options :

68634072121. 1
68634072122. 2
68634072123. 3
68634072124. 4

Question Number : 31 Question Id : 68634018260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH I FYRU TS, & IS YT AT U G & dl IR SUP FRUR B IAH ©

AMTUPYT A: B 3m TUT 2m BT GTe] AT HTIRS FT13M & TH A MAg HIY &1 596 A9 &
URd ST 30l 84.4 kg m? © Sidld DI BT GHHM 10 ke T

WR:Wmaﬂméﬁqﬁﬁ:mw;[i"?
—

4

SIRIG Y & ATalle |, A4 f3u U fasedi T I 99 Iugad Iax &1 98- Hifelu:
1. G P 1 IR 1T R

G Y1 SR 117 ©

U1 G 5. AP HUA 117 &

4. DY 1770 &, Tl DY 11 6l &

| ]

Lag

Options :
68634072121. 1
68634072122. 2



68634072123.3
68634072124. 4

Question Number : 32 Question Id : 68634018261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The quantities which are invariant under Galilean transformation are:

A. Length

B. Velocity

C. Acceleration
D. Momentum

Choose the correct option

l.Aand C

| )

A Band C
3.Band C
4. Only D

Options :

68634072125. 1
68634072126. 2
68634072127. 3
68634072128. 4

Question Number : 32 Question Id : 68634018261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o1 A Mt Tefiform wurRo § smfvafda wdt §:

A TS
B.dT

C. @RI
D. HaTl

=i fau 0 fdaredl | ¥ Uel 3R &1 904 dIil:
1.ATGC
2.A.BUGC
3.BUdC
4.%qdD

Options :



68634072125. 1
68634072126. 2
68634072127. 3
68634072128. 4

Question Number : 33 Question Id : 68634018262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The moment of inertia of a thin rod of mass M about on axis passing through its one end and

perpendicular to its length(/) 18 M [:—_2 - %}

Statement IT: Radius of gyration of a thick shell of external radius R and mternal radius r about its diameter is

R
K. suchthat K2=2 =

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are carrect
2. Both Statement | and Statement Il are incorrect
3. Staternent | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

68634072129. 1

68634072130. 2

68634072131.3
68634072132. 4

Question Number : 33 Question Id : 68634018262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁaaﬁﬁiﬁﬁqm%

HYF I: TH M G0 D1 Iaell ©5 & 39d!| aiaTg (1) & raad qau7 Ud 58 Ud R § 7ol aral &

% R Srge eyl M{;’?fﬂ

®Y I1: 915l AN R GU1 SMI=Re FIS01 ¢« 1 Ueb HIE ey el Bl gHeh od1¥ & Uiid: Jui= Bl K 6.

s E[E-_*J

5| RF =7

SIRI Y & ATeiie B, 1< 83U MU fdeedi T I 99 Suged a3 &1 98- Hifolu:
1. i pYT1 3R 1 Tel &
2. G PYF I AR 1 7TEd §

3.
HUTI el 8. AT ST I T &

4,
FYT 10 6. AT PUT I Tl &

Options :

68634072129. 1
68634072130. 2
68634072131. 3
68634072132. 4

Question Number : 34 Question Id : 68634018263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Two simple harmonic motions (SHMs):

. acting on a particle in the same direction gives phenomenon of beats .

. acting on a particle on perpendicular directions given phenomenon of Lissajous figure.
. acting on a particle on the same direction gives phenomenon of Lissajous figure.

. acting on a particle in perpendicular directions gives phenomenon of beats.

ol N vs B~

Choose the correct statements answer from the options given below:
1. Aand B only
2. Cand D only
3. Aand C only

4. B and D only

Options :

68634072133. 1
68634072134. 2
68634072135. 3



68634072136. 4

Question Number : 34 Question Id : 68634018263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 W 3mad el (7.31.9T,)

A, T sorw gam femn § orivd 9,307, faeg< uigearygq a6 |
B. fdl Hur R Traad feun & ordka 9.3, forey i ueH et B

c. ot wr R u fen | wrdvd 9,907, foraiorg g ugH aedl g |

D. footht ol R wread foun & srivd 9,371, fawg—< uftge1 ugH &di g1

=i fau 0 f[d@redl § O Tol 3R &1 904 DI -
1.PddATB
2. A CcdD
3. BadATC
4.9 BAD

Options :

68634072133. 1
68634072134. 2
68634072135. 3
68634072136. 4

Question Number : 35 Question Id : 68634018264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

: List IT
Uit (Radius of
MI (Moment of Inertia) Gy iting)
A |Solid sphere rotating about its tangent L %
Hollow cylinder about its own axis with '
B : Im | —
external radius R 3
C M of thin rod about an x axis passing 1 (73 e
" through centre and perpendicular to length “|hs)
D. IMI of disc about 1ts diameter V. _[ Fr J
?

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-1, D-II

[ ]

CA-L B-IIL C-III, D-IV

[F5]

CA-TV, B-IILL C-1, D-11
4. A-II1. B-IV, C-II, D-I

Options :

68634072137. 1
68634072138. 2
68634072139. 3
68634072140. 4

Question Number : 35 Question Id : 68634018264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T II
(SIS SATU firem)
A [egeieTT & URd: g e 3 e | L %
ST 318 & TR YA gofl 91g TR R
B | e I (=
o [ s F oA Td aER G (o [(7],

' |ar&r o uivd: SUBT Wisd \s)

o 6&%&%: IH- ATl adl BT 9sd |y [R";r']
fFafdRad fawedl & ¥ T8t SR &1 999 DI ;

1. A-III, B-IV. C-1, D-II

[

AL B-IL C-IT1, D-IV

L¥ 5]

CA-IV, B-III. C-I, D-I1
4. A-III. B-IV. C-II. D-I

Options :

68634072137. 1
68634072138. 2
68634072139. 3
68634072140. 4

Question Number : 36 Question Id : 68634018265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Electric field E is a conservative field. For the steady tield, VxEis:

I: 1

| B)

. Zero

Options :

68634072141. 1
68634072142. 2
68634072143. 3
68634072144. 4



Question Number : 36 Question Id : 68634018265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dggd & E Ue WReft 89 §1 /TS 89 & 0, VX E | 8:
1.1

2. Zero

OB

at

4. OB
al

Options :

68634072141. 1
68634072142. 2
68634072143. 3
68634072144. 4

Question Number : 37 Question Id : 68634018266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electron is accelerated through a potential difference of 4.55 kV. The velocity of electron. if it initially

started from rest is (given, mass of electron= 9.1 x 10 =1 kg):

1.2 %10 ms™!

[ ]

. 8 4 10" ms™!
3.3%10 ms!

% 10" ms™!

4.

[ ]

Options :

68634072145. 1
68634072146. 2
68634072147. 3
68634072148. 4

Question Number : 37 Question Id : 68634018266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foralt goiaeTa @l 4.55 kv fayarR gR1 @Rd faegr S1en 81 9fe U8 [avHal O UR™ &dl § 41 9@l
an e (feun . sclaeld &1 §ogH = 9.1x10 3! ke):

1.2 x10" ms™!

(B

4% 10" ms!
3.3%10 ms™!
4,5 %10 ms™!
Options :
68634072145. 1
68634072146. 2

68634072147. 3
68634072148. 4

Question Number : 38 Question Id : 68634018267 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If the fields of an electromagnetic wave propagate in a medium are represented as:

E =20 cos (wt + 15°) V! and H= 0.5 cos (oot - 153}3111_]

The intrinsic impedance of the medium is:

1. 40 £0°

| )

A0 50

Lad

A0 2300
4.40 £ -30°

Options :

68634072149. 1
68634072150. 2
68634072151. 3
68634072152. 4

Question Number : 38 Question Id : 68634018267 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe far<it e ¥ §9ikd U [dggad 9810 avil & &F 8 TeR F9iud §;
E =20 cos (ot + 15°) Vi~ GUTH = 0.5 cos (et - lS")Am_l
HIe o1 e Ui & 6:

1. 40 £0°

[ ]

40 150

[¥ 5]

40 £30°

=y

.40 £ -30°

Options :

68634072149. 1
68634072150. 2
68634072151. 3
68634072152. 4

Question Number : 39 Question Id : 68634018268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When an electromagnetic wave propagates in a conductive medium, the successive maximum amplitudes of

: : ‘ i | . : = . . 2
the magnetic field intensity H occurs ~ cycles later than the maximum amplitude of the electric field intensity
n

E . The value of 'n' 13 :

| ]
| ]

4. 8

Options :

68634072153. 1
68634072154. 2
68634072155. 3
68634072156. 4

Question Number : 39 Question Id : 68634018268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e U [deqa ga g a7 U garas q1ey & IR §idl & of dgdd & i digdl H & Sifidad
ST W L <] & U JFEPTT &1 P oIl E P AT ARUDTH ST U Sl 81w SIHA G

I: 1

[ ]
[

4.8

Options :

68634072153. 1
68634072154. 2
68634072155. 3
68634072156. 4

Question Number : 40 Question Id : 68634018269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is essential for diffraction pattern:
1. Polychromatic light
2. A narrow slit

3. two coherent sources

4. Screen at a distance of less than 4m from the slit

Options :

68634072157. 1
68634072158. 2
68634072159. 3
68634072160. 4

Question Number : 40 Question Id : 68634018269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634072157. 1
68634072158. 2
68634072159. 3
68634072160. 4

Question Number : 41 Question Id : 68634018270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The intrinsic impedance of two different media may be same. even if they have different
permittivities and permeabilities

Reason R: The intrinsic impedance of a medium does not depend on permittivity and permeability of the
medium .

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R 1s false

4. A s false but R 1s true

Options :

68634072161. 1
68634072162. 2
68634072163. 3
68634072164. 4

Question Number : 41 Question Id : 68634018270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072161. 1
68634072162. 2
68634072163. 3
68634072164. 4

Question Number : 42 Question Id : 68634018271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A. A p-type semiconductor is uncharged.

B. When semiconductor is doped with a donor impurity. electron concentration decreases.
C. In a semiconductor. there are no free electron at 0 K.

D. In normal operation of a transistor. the base collector junction is forward biased.

Choose the correct answer from the options given below:
1. Aand C only
2. B and D only
3. Aand B only

4. C and D only

Options :

68634072165. 1
68634072166. 2
68634072167. 3
68634072168. 4

Question Number : 42 Question Id : 68634018271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072165. 1
68634072166. 2
68634072167. 3
68634072168. 4

Question Number : 43 Question Id : 68634018272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: If a charge moves with uniform velocity. 1t produces time varying electromagnetic field.

Statement IT: If charge oscillates with a frequency of 2 GHz. it produces the electromagnetic radiation of 2
GHz

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I i1s false but Statement IT is true

Options :

68634072169. 1
68634072170. 2
68634072171. 3
68634072172. 4

Question Number : 43 Question Id : 68634018272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634072169. 1
68634072170. 2
68634072171. 3
68634072172. 4

Question Number : 44 Question Id : 68634018273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Maxwell's equations which are NOT valid for traveling electromagnetic wave are:

A-ﬁ’.f)=p\,
B.yxE=0
s éD
c. pHxdl=J +|—dS
itedi=y. [
D.VxH=1]
E. -@E.dl:ﬂ

Choose the correct answer from the options given below:
1. C and E only
2. B and D only
3.A.Band D only

4. B. D and E only

Options :

68634072173. 1
68634072174. 2
68634072175. 3
68634072176. 4

Question Number : 44 Question Id : 68634018273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072173. 1
68634072174.2
68634072175. 3
68634072176. 4

Question Number : 45 Question Id : 68634018274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List1 List IT
(Tvpe of wave) {(Detection)
A Microwave I. |Photocells
B. [K-rays IT. |Point contact diode
C. |Infrared 11 lonisation chamber
D. [Ultraviolet IV [Thermopiles Bolometer

Choose the correct answer from the options given below:

1. A-II, B-III. C-1. D-IV

[ ]

. A-TV, B-III. C-I1, D-1

L]

A-IL B-II1, C-IV, D-1
4. A-II1. B-1I. C-IV. D-I

Options :

68634072177. 1
68634072178. 2
68634072179. 3
68634072180. 4

Question Number : 45 Question Id : 68634018274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I1. B-I11. C-1. D-IV
2. A-IV. B-1I1. C-I1, D-I
3. A-IL B-IIL. C-IV. D-I
4. A-TIIL B-1I1. C-IV. D-I

Options :

68634072177. 1

68634072178. 2

68634072179. 3
68634072180. 4



Question Number : 46 Question Id : 68634018275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Brewter's law is related to the study:
1. particle nature of light.
2. mechanical nature of light.
3. Longitudinal nature of light.
4. Transverse nature of light.
Options :
68634072181. 1
68634072182. 2

68634072183. 3
68634072184. 4

Question Number : 46 Question Id : 68634018275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072181. 1
68634072182. 2
68634072183. 3
68634072184. 4
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Question Number : 47 Question Id : 68634018276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following laser works as four level laser using indirect pumping:

1. Ruby

[ ]

. He-Ne
3. Semiconductor
4. Nd: YAG

Options :

68634072185. 1
68634072186. 2
68634072187. 3
68634072188. 4

Question Number : 47 Question Id : 68634018276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafafRad & O &F 1 doR d@es 9T &1 U $3d IR WY doik & die P Hdl 6:
1.2l

feferm -
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4. Nd: YAG

| )

¥

Options :

68634072185. 1
68634072186. 2
68634072187. 3
68634072188. 4

Question Number : 48 Question Id : 68634018277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Newton's ring experiment the diameter of ol ring changes from 1.6 cm to 1.25 cm when liquid is
introduced in the gap between the lens and the glass plate. The refractive index of the liquid is nearly:

1.13

[ ]

1.4
3:1.5

4.1.6

Options :
68634072189. 1



68634072190. 2
68634072191. 3
68634072192. 4

Question Number : 48 Question Id : 68634018277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072189. 1
68634072190. 2
68634072191. 3
68634072192. 4

Question Number : 49 Question Id : 68634018278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If unpolarized light of intensity (I,) is incident on a polarizer, then it gets transmited and stays constant in

intensity on rotation of the polarizer. The mtensity of transmitted light 1s :

1.1

(4]

| ]

4. Zero

Options :

68634072193. 1
68634072194. 2
68634072195. 3
68634072196. 4

Question Number : 49 Question Id : 68634018278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. Zero

Options :

68634072193. 1
68634072194. 2
68634072195. 3
68634072196. 4

Question Number : 50 Question Id : 68634018279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Huygens wave theory. which of the following wave does not produced secondary wavelets:

1. Light traveling in air

(B

. gravitational wave
3. wave traveling in free space
4, Ultrasonic wave

Options :

68634072197. 1
68634072198. 2
68634072199. 3
68634072200. 4

Question Number : 50 Question Id : 68634018279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072197. 1
68634072198. 2
68634072199. 3
68634072200. 4

Question Number : 51 Question Id : 68634018280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1 labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Two sources S; and S, emit the following two waves y, = @, sin @f and y, = a, sin (et £ &),

These waves produce interference pattern if 5 changes randomly with time.

Reason R: S; and S, must be coherent for the production of interference pattern.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct and R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 13 correct

Options :

68634072201. 1
68634072202. 2
68634072203. 3
68634072204. 4

Question Number : 51 Question Id : 68634018280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072201. 1
68634072202. 2
68634072203. 3
68634072204. 4

Question Number : 52 Question Id : 68634018281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements for Newton's rings:

A. The thickness of the ring increases when ring number increases.
B. Fringe width decreases when ring number increases.
C. Fringe width decreases when ring number decreases.
D. The thickness of the ring increases when ring number decreases.

Choose the correct answer from the options given below:
1. Aand B only
2. Cand D only
3. Aand C only

4. B and D only

Options :

68634072205. 1
68634072206. 2
68634072207. 3
68634072208. 4

Question Number : 52 Question Id : 68634018281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
g+ o1 & fam Hiwrfas sy ufet:
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Options :

68634072205. 1
68634072206. 2
68634072207. 3
68634072208. 4

Question Number : 53 Question Id : 68634018282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Stimulated emission can take place only between two energy levels. when upper level 1s meta
stable.

Statement IT: Metastable state and population mversion are not required for stimulated emission.
In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

[ )

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :

68634072209. 1
68634072210. 2
68634072211. 3
68634072212. 4



Question Number : 53 Question Id : 68634018282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072209. 1
68634072210. 2
68634072211. 3
68634072212. 4

Question Number : 54 Question Id : 68634018283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A. A sodium atom radiates for 5 ps. The coherence length of light from a sodium lamp 1s 1.5 mm.

B. Wave packet 1s a harmonic wave.

C. A wave train contains about a million wave oscillations in 1t.

D. Coherence refers to the connection between the phase of light waves at one point and time with the phase
of light waves at another point and time.

Choose the most appropriate answer from the options given below:
1. Aand B only
2. B and C only
3.A. Cand D only
4. A. Band C only
Options :
68634072213. 1

68634072214. 2
68634072215.3



68634072216. 4

Question Number : 54 Question Id : 68634018283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072213. 1
68634072214. 2
68634072215. 3
68634072216. 4

Question Number : 55 Question Id : 68634018284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
A |Semiconductor laser I |CD player
B. [Ruby laser II. |bar code reading
C. [Helium- Neon laser IIT. |four level molecular laser
D. [Carbon dioxide laser IV. |doped insulator laser

Choose the correct answer from the options given below:

1. A-IV, B-I. C-IV, D-II

| ]

CA-TLL B-IV, C-I1, D-ITT
3. A-L. B-III, C-IV. D-II
4. A-II1. B-IV. C-II. D-1

Options :



68634072217. 1
68634072218. 2
68634072219. 3
68634072220. 4

Question Number : 55 Question Id : 68634018284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IV. B-I. C-IV. D-II

|

CA-LB-IV, C-I1, D-ITT
3. A-L, B-III. C-IV, D-II
4. A-I11, B-IV. C-II, D-I

Options :

68634072217. 1
68634072218. 2
68634072219. 3
68634072220. 4

Question Number : 56 Question Id : 68634018285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The slope between E;, (kinetic energy of photo electron) and v (frequency of radiation) has the dimensions
similar to:

1. angular frequency

| ]

. angular momentum
3. momentum
4. energy

Options :

68634072221. 1
68634072222. 2
68634072223. 3
68634072224. 4



Question Number : 56 Question Id : 68634018285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wil SadeH B T S By U4 fafdwur &5t smafir » & e waura @ fom fvad gom @

1. BI0fT g
2. BTG HaT
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Options :

68634072221. 1
68634072222. 2
68634072223. 3
68634072224. 4

Question Number : 57 Question Id : 68634018286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change in entropy for the process AB C D A (as shown in figure) 1s :

o——>>P(Nm™)

1. Greater than 1
2. In between zero and 1
3. less than zero
4. equal to zero
Options :
68634072225. 1
68634072226. 2

68634072227.3
68634072228. 4



Question Number : 57 Question Id : 68634018286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Options :

68634072225. 1
68634072226. 2
68634072227. 3
68634072228. 4

Question Number : 58 Question Id : 68634018287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct Maxwell's relation from the options given below (Given. P = pressure, V=volume. T =
temperature and S = entropy):

Options :
68634072229. 1



68634072230. 2
68634072231.3
68634072232. 4

Question Number : 58 Question Id : 68634018287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072229. 1
68634072230. 2
68634072231. 3
68634072232. 4

Question Number : 59 Question Id : 68634018288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A specific light 1s used in an experiment on photoelectric effect. The stopping potential is related to:

1. longest wavelength

2

. largest frequency
3. mean wavelength
4. smallest frequency

Options :

68634072233. 1
68634072234.2
68634072235. 3
68634072236. 4

Question Number : 59 Question Id : 68634018288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TeRTRI dggd WHTd & WRIRT H Ueh fafRIs UepT< o1 ST faea1 ol § | FRish v frad daf i &
1. Jfftad ae e

 3ffterad g

1T T

L g

Options :

68634072233. 1
68634072234. 2
68634072235. 3
68634072236. 4

[
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e

Question Number : 60 Question Id : 68634018289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(d
If a solid is converted into liquid. there is an increase in volume. Then quantity ‘ = W 18 :
L

)

1. positive

| )

. negative
3. zero

4, infinite

Options :

68634072237. 1
68634072238. 2
68634072239. 3
68634072240. 4

Question Number : 60 Question Id : 68634018289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe ot 519 gou © gadr ofdl 8. SUHT AdH sedi gl Eﬁﬁ@T(% e

s

1. YqldHEP

b2

BUMHD



Options :

68634072237. 1
68634072238. 2
68634072239. 3
68634072240. 4

Question Number : 61 Question Id : 68634018290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: An electron is in a box of side 0.1 mm. Tts first permitted energy is 37.5 eV.

Reason R: Permitted electron energies in the above box are 37.5 n” eV (given h = 6.62%10%Js and mass of
electron=9.1x101 kg)

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R is false

4, A is false but R is true

Options :

68634072241. 1
68634072242. 2
68634072243. 3
68634072244 4

Question Number : 61 Question Id : 68634018290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &l YA (AU T §, Ud AU (Assertion A) P $U T [dIRad § Al GRRI WP BRI (Reason R)d ¥
T

HTUHYT A: TP SAFEH 0.1 mm TSTE & U 9169 1 QYT § 1 SHS! HYH AT ol is 37.5 eV

HROTR: IR SidH H SFHT Saided Holl 37.5 02 eV 8. ([Ga18. h=6.62+107* J: T9 Soige™ &I
GO = 9.1x107! kg)

IR HYH o ATl H, HId [SU U fdbedi § I Tad Yol Ik &1 99 BIfolg
1, A 3R R I & € AUTR, A 1 TS RSN &
A SRR U E AUTR. A BT & U el §
ATSIgUfGTR A ©
4 ATAd e AfPTR TSI ©
Options :
68634072241 1
68634072242. 2

68634072243.3
68634072244. 4

b2

5]

Question Number : 62 Question Id : 68634018291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A, Paramagnetic substance can be used as working substance of an engine.

B. Only gas can be used as working substance in the operation of the engine.

C. Enthalpy is a function of entropy and pressure .

D. According to laws of thermodynamics. internal energy is the function of pressure and volume.

Choaose the correct answer from the options given below:

1. A and B only

[ ]

. B and C only
3. Cand D only
4. A and C only

Options :

68634072245. 1
68634072246. 2
68634072247. 3
68634072248. 4



Question Number : 62 Question Id : 68634018291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad sy @l uigu.

A. 54 57 d Frder ugrd & 30 § srgraaig ugrd &1 3uah fasal o Sadi g
B. 50 @ oba1 § hacl 19 o] dIDR] Yard & 9 5 WA [ off Faod g |
¢. et Tt quT ST &1 e glidl o

D. SHFTA®! & MIUAFER, <R ol 414 Ud 3ad- &1 B gidl g |
i fau 0 f[daredl | ¥ Uel 3R &1 904 Siig;

1. HAdATB

2. PaABAC

3.Pad CcdD

4. BAUATC

Options :

68634072245. 1
68634072246. 2
68634072247. 3
68634072248. 4

Question Number : 63 Question Id : 68634018292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:The principle of Michelson Morley experiment is based on division of amplitude.

Statement IT: Michelson Morley experiment can be used for measurement of refractive indices of liquids and
gases.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false
4, Statement [ 15 false but Statement II is true

Options :

68634072249. 1

68634072250. 2

68634072251. 3
68634072252. 4



Question Number : 63 Question Id : 68634018292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEAEIEEUR
TYF I TS Tidl Har o1 G S & [GUIeH 1R 1o g
FYF I1: TEH e Hidd YN &1 3981 gai 9 11961 & siuad-ie] & 0o o a1 o gear g
SWRIGd BYF & 3Tl H, A1 4T T fddwedi & I el SR &1 997 BT
1. G HYU 1 SR 11 Hal 8
2. ST BYA T SR T W e R
3. Y1 B! 6. ifh YA 11 7Ted ©
4, YT 1TeTd 8, Wich B2 1T Hel &

Options :

68634072249. 1
68634072250. 2
68634072251. 3
68634072252. 4

Question Number : 64 Question Id : 68634018293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct statements on Raman Effect are:
A. For elastic scattering. the frequency of scattered light remains the same as that of incident radiation.
B. The color of the sky on a clear day is blue due to the scattering of radiation.
C. Raman effect is related with inelastic scattering.
D. Nature of Rayleigh scattering is inelastic.

Choose the correct answer from the options given below:
1. A B and D only
2. A Band C only
3. B and D only

4. C and D only

Options :

68634072253. 1
68634072254. 2
68634072255. 3
68634072256. 4



Question Number : 64 Question Id : 68634018293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I YUTE OR 1R Sy i fa g

A, VAR Uas 0 & oy e ifofd wesm=r &1 efrgil siafod fafeso &t emgfa & 99 sidi 8|
B. fafth01 & Y0 & SR I 39 H 1B &7 37 e sl 8|

C. TH UG SIRY Wit 9 Jafid g

D. Y3 YU &1 YhR U gidr 81

i fou 7Tt fawedl © § 9El STR &1 997 Hifult:
1.PdAA.BID
2. $ad A, BAC
3.%dd BAD
4.PaqUCTD

Options :

68634072253. 1
68634072254. 2
68634072255. 3
68634072256. 4

Question Number : 65 Question Id : 68634018294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ListI List IT
(Equation Name) (Values)
: dp L
A |TdS equation I | —=——
dl”  1dV
B. |Gibbs-Helmholtz equation II. |TdS =dU +PdV
dG
C. [Law of conservation of energy] IIL [H=G - T (—TJ
\ dT P
: AV )
D. |[Clausius clapeyron equation | IV, [Tds = CpdT -T LTI |
L iy

Choose the correct answer from the options given below:

1. A-IL, B-1. C-IIL. D-IV

| )

A-IV, B-III, C-II. D-I
3. A-IV, B-III. C-I1. D-I
4. A-IT, B-IV. C-I11, D-I

Options :

68634072257. 1
68634072258. 2
68634072259. 3
68634072260. 4

Question Number : 65 Question Id : 68634018294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

I (TR0 31 7) T 11 (@)
A |Tds FHIBI g -

dT _ TdV

B. [FTe9 ecHelce o GHIBAT | 11 [TdS =dU ~PdV

- (dG
C. [l T& &I FaH I [H=G - T| =

9 . Fav
D. [Ty FeRI- GHIRo] IV [Tds = CpdT -T| |

\ T il

FafaRad faeedl & 9 981 TR &1 994 Bifu

1. A-II. B-I. C-II. D-IV

2. A-IV, B-IIL, C-I1, D-I
3. A-IV. B-III. C-II. D-I
4. A-I1. B-IV. C-111, D-I

Options :



68634072257. 1
68634072258. 2
68634072259. 3
68634072260. 4

Question Number : 66 Question Id : 68634018295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a

If A =(2xy +3uz)i +(x* +xz-427) j - (3xp+ yz)k. then curl of A at (2.-1, 1) is:

—

-—f+6}'+2§

[
|
=
I
[= ]
e
ER
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e
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-
[
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S
[
[
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Options :

68634072261. 1
68634072262. 2
68634072263. 3
68634072264. 4

Question Number : 66 Question Id : 68634018295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR A = (200 +3y2)i + (¥ +22-422) - By +32) k. WIEG £ A TR (2-1. 1) PTDH o

L—f+6]+2k
2. - § -6 +2k
3. ~f+6]- 2k
4 i-6j-2k

Options :

68634072261. 1

68634072262. 2

68634072263. 3
68634072264. 4

Question Number : 67 Question Id : 68634018296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The angle between the tangents to the curve F=ti=-3+tk at points y = +1] 1s:

Q9
1.cos™ (—J
11

\

Zcos"[l]
11
i

3. ¢cos -
|

4. cos '[iJ
1]

Options :

68634072265. 1
68634072266. 2
68634072267. 3
68634072268. 4

Question Number : 67 Question Id : 68634018296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s gl Raw 7 =r-3+0 'k S s daerHe:

9
1.cos™ (—J
11

7
2 cos"[—)

11
()

d.cos | —

1

3
4. cos 'f—J

1

Options :

68634072265. 1
68634072266. 2
68634072267. 3
68634072268. 4

Question Number : 68 Question Id : 68634018297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It ¢ =3xy* — y°'z". The area of the parallelogram. whose adjacent sides are 2i + j—4k at the point (1.-1.-1). 18 :

L. 64/5

[ ]
(w.a]
=

=
L
Ln

Options :

68634072269. 1
68634072270. 2
68634072271. 3
68634072272. 4

Question Number : 68 Question Id : 68634018297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg 4 =%;-_1.~= _ 2B AR Ao TR Terw ot 27 + /- 4k quT g (1.-1.-1) TR grad® &, T
AP B

Options :

68634072269. 1
68634072270. 2
68634072271. 3
68634072272. 4

Question Number : 69 Question Id : 68634018298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o g o . Py dy ;
If y, =¢ *cosxand y, = e sinx are the two solutions of =& +2% 2, = 0, then correct statement is:

av” dx

fa—y

. y1 and y; are linearly independent.

[ ]

. y1 and y; are linearly dependent.
3. y; can be expressed as a scalar multiple of y,
4. y; can be expressed as a vector multiple of y,

Options :

68634072273. 1
68634072274.2
68634072275. 3
68634072276. 4

Question Number : 69 Question Id : 68634018298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uﬁ“iﬁ:ﬂ;z_.-:oﬁ?ﬁsﬁ ¥1= ¥ cos x and y» = & sin x B, ol Tgl YA B

av” oy

1.y, 3y, Wag R85

2.y, Ty, g R T

3.y, @y, & Y 0H & 30 H fGwR o st gsar )
4.y, @l y, AR T0H & 39 H TR 51 o THar g

Options :

68634072273. 1
68634072274. 2
68634072275. 3
68634072276. 4

Question Number : 70 Question Id : 68634018299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The force which is not conservative 1s :

-

1.F= (2xy + )i+ f+2xzk

| ]
b !
I
—
-—
]
|
-
L]
S
—_
+
[ ]
S
-
L S,

4 F=yzi+2x j+xv k

Options :

68634072277. 1
68634072278. 2
68634072279. 3
68634072280. 4

Question Number : 70 Question Id : 68634018299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1.F= {2.1‘_1‘+ sl]F+.rj_F +2xz k

[ ]
i

1l
—
L

Options :

68634072277. 1
68634072278. 2
68634072279. 3
68634072280. 4

Question Number : 71 Question Id : 68634018300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II for simple Harmonic motion (consider all motions in their usual meaning):

List I List IT
(Physical quantities) (Values)
A |Veloeity I |aw
B. Maximum velocity I1. ({)\/ a —x-
C. |Acceleration 1L faew’ sin [mf + (Il}
D. Maximum acceleration| TV. 61(01

Choose the correct answer from the options given below:

1. A-IV. B-ITI. C-II. D-I
2. AL B-L C-IV, D-III
3. A-IL. B-1. C-III. D-IV
4. A-ITLL B-IV. C-1. D-II

Options :

68634072281. 1

68634072282. 2

68634072283.3
68634072284. 4

Question Number : 71 Question Id : 68634018300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR 3M1ad 11 & ore 1 1 &7 gt 1 9§ e Sifoe (@l dddr o1 vaied o aFe)

L g I
e TR A
A AT I law
B. 3R@aHdT | I | pya’ — x°
C. [cg20] 11 |ac? sin (et +@
D. |HfEHad @ IV, |ac?
fafiRad fowedl © I U8t 3R &1 994 DI

1. A-IV, B-ITI. C-II. D-I

| )

CA-L B-1. C-IV, D-III
3. A-IL. B-1. C-III. D-IV
4. A-I1. B-IV. C-1. D-II

Options :

68634072281. 1

68634072282. 2
68634072283.3



68634072284. 4

Question Number : 72 Question Id : 68634018301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Gauss's theorem is used to show that curl of the gradient of scalar function is equal to zero.
Statement IT: Stoke's theorem is used to show that divergence of the curl of a vector function is equal to zero.
In the light of the above statements. choose the correct answer from the options given below.
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement II is false
4, Statement I is false but Statement II is true
Options :
68634072285. 1
68634072286. 2

68634072287. 3
68634072288. 4

Question Number : 72 Question Id : 68634018301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEAEIEEUR

SYFI: TS T FT ITA T8 3211 © [ AW Her &1 Waurd] &1 $a Jd & SRR el ¢
TYF II: TIH THG BT START T8 G2 & [ Tex Be & Ha B HTHR0 YA & SIaR sl o
SWRIGd BYF & 3Tl H, A1 4T T fddwedi & I el SR &1 997 BT

LI YT AR 1 e R

2. GHl BYAT SR I o

3. BYT 1 TE1 &, Wi HUA 11 7Tad ©
4. BYF 17Ted §. Al SY 11 81 &

Options :

68634072285. 1
68634072286. 2
68634072287. 3



68634072288. 4

Question Number : 73 Question Id : 68634018302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: If f'(x) = -

I 5 and f{o)=2. then 2.2 < (1) <2.25

Reason R: If y= f(x) 1s continious at each point of [a. b] and differentiable at each point of (a. b) then there 1s

atleast on number ¢ between a and b for which M = f(c)

b-a
In the light of the above statements. choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A

3. Ais true but R is false

4. A iz false but R is true

Options :

68634072289. 1
68634072290. 2
68634072291. 3
68634072292. 4

Question Number : 73 Question Id : 68634018302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &l YA (AU T §, U i@y (A) & U H [aRgd § of G¥RT 39$ SRUI(R)& 39 H g

SHTUBYTA: T £7(x) = i—lzﬁiﬂ flo)=2
b F it i

dd 2.2 <1{1)<2.25

BROTR: U< [a. b] & GAD &g W y=f(x) Y § Td (a. b) & UAD f[dg W sfabferd . dadb & &

BH U HH TP GBI ¢ forud feg .f'(h‘g:i 9) _ 4(e)

JWRIF] BYF & ATdid 4, 42U MU [dFh el § 9 Ugl IR &1 999 B0
1.ARRIH TUE IR R ADI TSI TR &
2. ARRIFIGAE AR R A DI U6l AR 781 &

3 AA e APAR T ©

4 AFIEABPTRITE

Options :

68634072289. 1
68634072290. 2
68634072291. 3
68634072292. 4

Question Number : 74 Question Id : 68634018303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
245 % dy .
If ax= + 2hxy + by* = 0: then T 18
dx

ax + hy
Chx+ by

(ex +hy)
T hx+by

ax—hy

hx+ by

. (ax+by)
hx = by

Options :

68634072293. 1
68634072294. 2
68634072295. 3
68634072296. 4



Question Number : 74 Question Id : 68634018303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qfg ax? + 2y + by?= 0: dl (j—!’ T
dx

= (ax +hy)

hx + by

3 ax — .*’?_1'
hx+ by

e (ax+by)
hx = by

Options :

68634072293. 1
68634072294 2
68634072295. 3
68634072296. 4

Question Number : 75 Question Id : 68634018304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A rod of length [ supported from its one end O gets deflected by y = K (9x* - 13/x® + 3P°x) if x is horizontal
distance from O and K 1s positive constant, then value of x giving maximum deflection is :

L5
4

a7

. b

3. L
3

L
2

Options :

68634072297. 1
68634072298. 2
68634072299. 3
68634072300. 4

Question Number : 75 Question Id : 68634018304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| TS Bl U B3 Sl 30 T R 0 W SI 8 T8 )=K (9x* - 131 + 3Px) gRIfadfua sl g1 afd 0 &
&S G x YT K U TS Hadie gl o Sfeean 989 & [t x &1 A &

i

-
| = =

b | ==

Options :

68634072297. 1
68634072298. 2
68634072299. 3
68634072300. 4

Question Number : 76 Question Id : 68634018305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The general value of Log(1+i)+log(1-4). where ng} = lgg 34200 .18t

1. log2 +4nxi

| )

dog2+4nmi

.Mg[l]e4nﬁf
2,

Jdogd+2nmi

L]

e

Options :

68634072301. 1
68634072302. 2
68634072303. 3
68634072304. 4

Question Number : 76 Question Id : 68634018305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O Log3 = log 3+ 2n7i B T8 Log (1+1)+log (1) T I I &1 &:

—

-|0gﬁ+4n;ﬂ'

[ ]

dog2+4nxi

LFS]

Sl 9

Jog| — |+4nmi
H

=

dogd+2nrmi

Options :

68634072301. 1
68634072302. 2
68634072303. 3
68634072304. 4

Question Number : 77 Question Id : 68634018306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The asymptotes of the function ¥ = ol 1 are:
X =
L.y=]1,x=1
y—=1x=2
Jx=1ly=12
4.x=0,y=0
Options :

68634072305. 1
68634072306. 2
68634072307. 3
68634072308. 4

Question Number : 77 Question Id : 68634018306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4. x=0,y=0
Options :
68634072305. 1
68634072306. 2
68634072307. 3
68634072308. 4

Question Number : 78 Question Id : 68634018307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: : o
The real and imaginary parts of costcos ' [—
4

,_.
[
=}
1=
12

| )

Ry By ool
|
=
(i
2

faa
|
=)
e
fad

4.%.—]0;:12

Options :

68634072309. 1
68634072310. 2
68634072311. 3
68634072312. 4

Question Number : 78 Question Id : 68634018307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fl-Fi . o~
cos ‘L%’J%? arid® Ud HIedf-is YT 6:

L)

. e
Ry By ool
| [
=3 =}
it &
2 (8]

faa
|
=)
e
fad

4.%.—]0;:12

Options :

68634072309. 1
68634072310. 2
68634072311. 3
68634072312. 4

Question Number : 79 Question Id : 68634018308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1

The series expansion of tan™ x is:

3 5
¥ -

—

Xt —+—+..0
3 5
X ¥
2ox—"tt.m
3

P %
4. X——t—+..0
5

Options :

68634072313. 1
68634072314. 2
68634072315. 3
68634072316. 4

Question Number : 79 Question Id : 68634018308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



tan™1x @1 207t UOR %r

2
9

Options :

68634072313. 1
68634072314. 2
68634072315. 3
68634072316. 4

Question Number : 80 Question Id : 68634018309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Solution ofﬂ+ Zﬂ +£ = is:

dx’ ax”  dx

1. y=Ce* +C,e”

| B

.¥y=C+(G,+Cx)e™
3. y=(C,+Cx+Cx*)e™
4 y=C +Ce™

Options :

68634072317. 1
68634072318. 2
68634072319. 3
68634072320. 4

Question Number : 80 Question Id : 68634018309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



_ng_-r+ﬁ_()$[ﬁ'ﬁ%:

&

edlx” ax”  dx

1: y=Ce* +(,e”

| )

y=C+(C,+Cx)e™

L]

y=(C+Cx+Cx’)e™
4.y=C +Cye™

Options :

68634072317. 1
68634072318. 2
68634072319. 3
68634072320. 4

Question Number : 81 Question Id : 68634018310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A square sheet of side a is used to make an open top box by cutting squares of side x from each corner. The
value of x for which the volume of the box is as large as possible is:

—
| S

| )

Blo oo

-
wh | m

Options :

68634072321. 1
68634072322. 2
68634072323. 3
68634072324. 4

Question Number : 81 Question Id : 68634018310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a YO B TP DR F1eR D1 YA THD G i I x Yol & G7l Pl HICHR U Gal XY BT Siad
T O PO 91 81 x &1 98 9 e ot a1y &1 3iffe 9§ 3fde smga- I4a &

,_.
[N

>la

Options :

68634072321. 1
68634072322. 2
68634072323. 3
68634072324. 4

Question Number : 82 Question Id : 68634018311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifw=x"+ y—zsintand x+ y = t. then the value At equal to:

12X+ sin(x+y)

2x+1

2x —cos(x+y)

| ]

2x+1

2x+cos(x+ y)

2x—1

4 2xt .~;|n_|_:_.r + 1}

2x—1

Options :

68634072325. 1
68634072326. 2
68634072327. 3
68634072328. 4

Question Number : 82 Question Id : 68634018311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



VI

[E‘»\

) . : ox 3
e = +y—zsintand x+ y = £, Td gl dl Zm—’ CARIEEF
[ o JE

1 2x+sin(x+y)
2x+1
2x—cos{x+ _l»'J
2x+1

b2

2x+cos(x+y)
2x—1

g 2%+ sin [_.r - 1_)

2x—1

Options :

68634072325. 1
68634072326. 2
68634072327. 3
68634072328. 4

Question Number : 83 Question Id : 68634018312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If @ is the cube root of unity then, value of (1 - )% is :

1.-9

| )
o=

=27
4. =3

Options :

68634072329. 1
68634072330. 2
68634072331. 3
68634072332. 4

Question Number : 83 Question Id : 68634018312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¢ o SHRPITHAT A (1-0)° DIAFT:

1=29
2.0
3.=27
4. £3
Options :

68634072329. 1
68634072330. 2
68634072331. 3
68634072332. 4

Question Number : 84 Question Id : 68634018313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. =sint .
The integral of [ —— dit 18:
w i !

[
|
I

b | =

da |

Options :

68634072333. 1
68634072334. 2
68634072335. 3
68634072336. 4

Question Number : 84 Question Id : 68634018313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s

2 |

o e

Options :

68634072333. 1
68634072334. 2
68634072335. 3
68634072336. 4

Question Number : 85 Question Id : 68634018314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other i1s labelled as Reason R.

Assertion A: Differential equation (+* + |]% +xv =0 can be solved by variable separable method.
X

Reason R: A differential equation of the type f {u};—L = g(x) can be solved by variable separable method as
j_f[_l-'}dr=jg(.r}cir .
In the light of the above statements. choose the correct answer from the options given below:.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. A s true but R 1s false

4. A is false but R is true

Options :

68634072337. 1
68634072338. 2
68634072339. 3
68634072340. 4

Question Number : 85 Question Id : 68634018314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 3 YA U TU B, TF @Y (A) T U F [1Ed § O ORI S9& BRI (R)S 39 1
ATUBYT A: ITHT FHID (1)L 0 P TR GUBIP Wish 1 GRT T 01 S Febell € |

PR R: ,,r(y}ﬁ = g(x) WBR I 3ddbel HIHIU bl =R gYdihd Uihal gRT Y Yo R gd fhar

dx
W%J,f{j-‘)aﬁ‘ = j.g(.r}afr

SWRI BYH & AT U, 1< 34U 7Y [dedi ¥ 9 9ad Iugdd Ia¥ o1 99 Difely
1.ARRIF AT IRR,ADI TSI AN ©
2. A 3R R H T T IR R, A B TSl AR 61 §

AT E AfPTR ITT B

4 ANTTEAPTIRIAT
Options :
68634072337. 1
68634072338. 2

68634072339. 3
68634072340. 4

Question Number : 86 Question Id : 68634018315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other i1s labelled as Reason R.

Assertion A: For a non conservative force field F, scalar potential can not be defined.
Reason R: Curl of a gradient is always zero.
In the light of the above statements, choose the correct answer from the options given below.
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R 1s false
4. A is false but R is true
Options :
68634072341. 1
68634072342. 2

68634072343.3
68634072344. 4

Question Number : 86 Question Id : 68634018315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i gl Sy (AU T §, U Sy A & $U 4 [aldd § dl g3 3HP PRUIR & 3U 4
Y A: et ol 901 &4 F & fog sifew fava ofeafia =8t e o wear g
HRYI R: {5 vaud &1 $d 96a I e gl
SIRIGd BY & SfTaid H, i ST T faseai 7 ¥ 9et SR &1 9g4 Sifow

1. A SRR M 90§ SR R, A B gl U &

2. AR R GHI 9A § IR R, AP el ARHA 6l §

3. AT E AP R ITT B

4 AT APTIRTAR

Options :

68634072341. 1
68634072342. 2
68634072343. 3
68634072344. 4

Question Number : 87 Question Id : 68634018316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The distance of a point doing SHM from its mean position at three successive second are x, x,

e 2

x 3 respectively. Given x= a sin ot. The value of @=c0S —
: 2%

2z
Statement IT: The time period of the above SHM 1s = . [ X+, |
cog | —— J
X

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT 1s false
4, Statement [ is false but Statement II is true

Options :

68634072345. 1

68634072346. 2

68634072347. 3
68634072348. 4



Question Number : 87 Question Id : 68634018316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬂiiEflaaiFTfaTITHI%i
HYAI: dH PHES I3 TR T Wﬁﬁ@%ﬂﬁ@mr X2, .rs%fl [331 8 x=a sin

R,
otl@=cos™ L —2 2
2,

2
HYF II: IURIGd I 3{Tdd Tid DT 3{adPpla m_._['x, +_1-1J gl

X,

SWRIGI DY & 3HTaid 1, H1d 3y 7Y fdeedi T I 9 Sugad 3o &1 99 Hifolt:
LA HYT1 3R 1908
B BY SR 1Y TS §

3. PYTI 9 8, AfhT YT 11 3T &

[

4 BYT IS, AT PUTII T B

Options :

68634072345. 1
68634072346. 2
68634072347. 3
68634072348. 4

Question Number : 88 Question Id : 68634018317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The inverse of the matrix A. if exists 1s:

|
Where A=[:—
1 5

]
Y
A e N |

Options :

68634072349. 1
68634072350. 2
68634072351. 3
68634072352. 4

Question Number : 88 Question Id : 68634018317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe dyd gl dl S1eTg A P ogchH g oldich .a.:ll : _ls]
1 5

Options :

68634072349. 1
68634072350. 2
68634072351. 3



68634072352. 4

Question Number : 89 Question Id : 68634018318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: For any matrix A. B € M, , , (F), det(A B) = det(A). det(B).

Statement IT: If M is skew-symmetric matrix of odd order . then M is singular.
In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement I are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true

Options :

68634072353. 1
68634072354. 2
68634072355. 3
68634072356. 4

Question Number : 89 Question Id : 68634018318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S ECARICA TR
DY G A. B € M, (F) P [0, IRUS (A B)=IRIUS (A) IRV (B)
BYA I1: 3G m a9 o1 D1 fdws HHAT 3iogg © di m THIH! 5
IIRIad Y & 3frelid H, i< 3T T fadwedi F ¥ 95t IR o1 984 ST

1. &I PUTI IR I Hel §

2. ST Y 1 IR 11 7Tad &

3. YT G §. Aifcp] YA 11 7TeTd ©
4. DY 17107d 5. Al HYH 1T Hel §

Options :
68634072353. 1
68634072354. 2



68634072355.3
68634072356. 4

Question Number : 90 Question Id : 68634018319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The positive number(s) which is /are root(s) of the equation X — 3/ x = 4:

1.1. 16

| ]

16

4.1.4

Options :

68634072357. 1
68634072358. 2
68634072359. 3
68634072360. 4

Question Number : 90 Question Id : 68634018319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR x — 3/ = 4% 4TS 9 &

1.1..16

| ]

.16

4.1.4

Options :

68634072357. 1
68634072358. 2
68634072359. 3
68634072360. 4

Question Number : 91 Question Id : 68634018320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the equation x*—15—m (2x—8)= 0 has equal roots. The values of m is:

1.2;

n

b
Lad
[ ]

%]
[F¥]
"yl

4. 1.

Lhn

Options :

68634072361.
68634072362.
68634072363.
68634072364.

A W N =

Question Number : 91 Question Id : 68634018320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁm x2—15-m (2x—8)=0 %@Wﬁ?ﬁm%ﬂﬂ%:

2

[

L
L]
-

L#N]

LFN]

’
]

4.1,

h

Options :

68634072361.
68634072362.
68634072363.
68634072364.

A W N =

Question Number : 92 Question Id : 68634018321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

Discriminant of the equation LISTII
A | Zero 1. |Real and rational
B. |Positive and a perfect square I1. |[Complex
C. |Positive and not a perfect square] III. |[Real and equal
D. [Negative IV. |Real and irrational

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| ]

AL B-1, C-IV, D-11
3. A-IL. B-1. C-III, D-IV
4. A-IV. B-1. C-II, D-III

Options :

68634072365. 1
68634072366. 2
68634072367. 3
68634072368. 4

Question Number : 92 Question Id : 68634018321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
= 1 (TS0 & [aidaaa) T I
A B 1. [Aride g OivHy

B (e udus yoiay | I [midy
C [AemEguiariagl | [orafas td R
D. [BUTHSD IV. [ardfde Ud Oy

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-I. B-II. C-III. D-IV

| o

CA-IILL B-1L C-IV, D-I1
3. A-Il, B-1. C-III. D-IV
4. A-IV. B-1, C-II. D-III

Options :

68634072365. 1
68634072366. 2
68634072367. 3
68634072368. 4



Question Number : 93 Question Id : 68634018322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Determine which of the following systems of linear equations have unique solutions:

x, +3x,=4
A 2
2x,+5x, =3
X +2x,=5
5 2
x—x =-I
i X, +2x, =
x, —4x, =0

Choose the most appropriate answer from the options given below:
1. A B.Donly
2. A B only
3.A.C.Donly
4. A.B. C only

Options :

68634072369. 1
68634072370. 2
68634072371. 3
68634072372. 4

Question Number : 93 Question Id : 68634018322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafeied v griexul & el o s sifgda &:

X +3x,=4
A 2

2x,+5x, =3

X +2x, =35
- 2

X —i=-1

x, +2x,=0
& 2

x,—4x, =0

D.x +2x =3, +x, =0

4 feu e faered! © © T s 3fEd 3T &1 99 I
1.HAA A, B.D

.Pad A.B

3.dd A.C.D

4.%49d A.B.C

[ ]

Options :

68634072369. 1
68634072370. 2
68634072371. 3
68634072372. 4

Question Number : 94 Question Id : 68634018323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The relation y =logzx implies:

o
Lad

Fot

I
=1

4.y°=3

Options :

68634072373. 1
68634072374. 2
68634072375. 3
68634072376. 4



Question Number : 94 Question Id : 68634018323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy y = logyx efRid @Rl §:

1.¥=3
2.3 =x
3.x =3
4.y°=3
Options :

68634072373. 1
68634072374. 2
68634072375.3
68634072376. 4

Question Number : 95 Question Id : 68634018324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d'y _dy e = : ] -2x o
Y 3% 2y —sin (¢*). 1f the complementary functions are y, =€ fand y =7 is:

The particular integral of
- efx” afy

[y

e gin (e )

| ]

_n :
e amifer)

L%]

. —e Zsin (9
2x . X
4. —e*" s (e)

Options :

68634072377. 1
68634072378. 2
68634072379. 3
68634072380. 4

Question Number : 95 Question Id : 68634018324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qﬁf}-‘l =e¢ Tandy,= g PREa HEE Bl dl dy 4 3£+ 2y =sin ((-3" )W%W%

dx” dx
ik il x
l.e*sin(e?)
2. e ¥ sin (&)
3. —e X sin (%)
4. —e%® gin (%)
Options :
68634072377. 1
68634072378.2

68634072379. 3
68634072380. 4

Question Number : 96 Question Id : 68634018325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The orthogonal trajectory of the family of curves p-* = ggin 2@ 1s :

1.y = gsin 260

[ B

.ri=—gcos28
3.r*=—asin2é
4. p* = acos26

Options :

68634072381. 1

68634072382. 2

68634072383.3
68634072384. 4

Question Number : 96 Question Id : 68634018325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TF P =asin 20 P TNAR BT TE AT IY &

7 5
l.r"=asin 20

[ B)

P =—acos26

3.p* =—asin2¢

=

r* =acos2f



Options :

68634072381. 1
68634072382. 2
68634072383. 3
68634072384. 4

Question Number : 97 Question Id : 68634018326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: . i
The determinant of the matrix A=

[ ]
Laa
=)

4. -10

Options :

68634072385. 1
68634072386. 2
68634072387. 3
68634072388. 4

Question Number : 97 Question Id : 68634018326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 1 3 3| -
amagg - | O T o R A §:

4 -4 4 -]

[ ]
%]
=

4. -10

Options :

68634072385. 1
68634072386. 2
68634072387. 3
68634072388. 4

Question Number : 98 Question Id : 68634018327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A, The value of determinant remains unaltered if the rows are interchanged into columns and vice versa.

B. If the two rows of a determinant are interchanged. the sign of the value of the determinant does not
change.

C. If the two rows of a determinant are identical. the value of the determinant is zero.

Choose the most appropriate answer for correct statement from the options given below:
1. B and C only
2. A.Band C only
3. Aand C only

4. B only

Options :

68634072389. 1
68634072390. 2
68634072391. 3
68634072392. 4

Question Number : 98 Question Id : 68634018327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072389, 1

68634072390. 2

68634072391. 3
68634072392. 4

Question Number : 99 Question Id : 68634018328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

o

Statement I:The equation of path of the projectile shown in the picture is y= vtano =
X708

-ll

i
':E I
T p
()
£
=
0 —ncostd

Statement IT: The greatest height reached by a projectile thrown at 30° angle for 6 and =20 m/s 1s 10 m

(g=10 m/ 33}.

In the light of the above statements. choose the correct answer from the options given below.

1. Both statements (I) and (II) are true

| B

. Both statements (I) and (II) are false
3. Statement I is true but statements IT 1s false
4, Statements I is false but statements II 1s true

Options :

68634072393. 1
68634072394. 2
68634072395. 3
68634072396. 4

Question Number : 99 Question Id : 68634018328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072393. 1
68634072394. 2
68634072395. 3
68634072396. 4

Question Number : 100 Question Id : 68634018329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Lorentz force 1s expressed as F=qk+ ‘?{_ vxB ] where [, 4, E,v and B have their usual
meaning.

Statement IT: Magnetic force on an electron. moving in Y direction inside field B directed along Z direction
acts in negative X-direction.

In the light of the above statements, choose the correet answer from the options given below.

1. Both Statement I and Statement II are true

b2

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT 1s false
4, Statement [ is false but Statement II is true

Options :

68634072397. 1

68634072398. 2

68634072399. 3
68634072400. 4

Question Number : 100 Question Id : 68634018329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634072397. 1
68634072398. 2
68634072399. 3
68634072400. 4



